
C-Service 3

Extension cylinder Ø55/32-1350 / p=21,5 MPa

213301Model:F 111 F

213301 - Extension cylinder Ø55/32-1350 / p=21,5 MPa

Page 1 of 2 2011-09-30



C-Service 3

942808301  1Extension cylinder Schubarmzylinder

942398702  1Cylinder tube Zylinderrohr

942398702  1Cylinder tube Zylinderrohr

942328243  1Piston rod Kolbenstange

942328243  1Piston rod Kolbenstange

942328334  1Piston Kolben

942328334  1Piston Kolben

942328345  1Cylinder cover Zylinderdeckel

942328345  1Cylinder cover Zylinderdeckel

823750556  1Seal Dichtung

823750556  1Seal Dichtung

823792017  1Seal Dichtung

823792017  1Seal Dichtung

823751508  1Wiper ring Abstreifring

823751508  1Wiper ring Abstreifring

823675359  1O-ring 53,57x3,55 O-Ring 53,57x3,55

823675359  1O-ring 53,57x3,55 O-Ring 53,57x3,55

8236924910  1O-ring 24,99x3,55 O-Ring 24,99x3,55

8236924910  1O-ring 24,99x3,55 O-Ring 24,99x3,55

4808354011  1Set screw M 8 x 12 Gewindestift M 8 x 12

4808354011  1Set screw M 8 x 12 Gewindestift M 8 x 12

9424183012  2Support Stütze

9424183012  2Support Stütze

4560514913  2Socket head cap screw M 12 x 40 8.8 Innensechskantschraube M 12 x 40 8.8

4560514913  2Socket head cap screw M 12 x 40 8.8 Innensechskantschraube M 12 x 40 8.8

9428082914  1Stop Anschlag

8236731615  1O-ring 31,5x2,65 O-Ring 31,5x2,65

21.330.1  0Extension cylinder 1 No 111001 Schubarmzylinder 1 No 111001

Kit 94232842 Seal kit Dichtungssatz

823750556  1Seal Dichtung

823792017  1Seal Dichtung

823751508  1Wiper ring Abstreifring

823675359  1O-ring 53,57x3,55 O-Ring 53,57x3,55

8236924910  1O-ring 24,99x3,55 O-Ring 24,99x3,55

Pos Part No Description EN QuantityDescription DE

213301 - Extension cylinder Ø55/32-1350 / p=21,5 MPa

Page 2 of 22011-09-30


